/D

SN
N
\\.

/D

<

H 754

o

ERLNZ / Components

No. & ¥ / Part name #E / Pcs #ME / Material £ - REAULIE / Color-Finish
1 IL—L4 4 TILEHH AT A6063S-T5 DIiN—  TS59Y - TILIAL & VT EE
Frame Extruded aluminium A6063S-T5 Silver , black - Anodized & clear coated
2 a—r—Jovy 4 ABS#iE UL94HB SANTL—, TIvY
Corner block ABS UL94HB Light gray , Black
3 J—4—F+v7 / Blind plug 8 ISR / TPE FA8JL—, T35V / Light gray , Black
4 INAIAFH AL / Slide panel 1 7 JLEHR / Aluminium A1100P t=1.5 D IIN—=TF LA / Silver = Anodized
7 JLEHR / Aluminium A1100P t=1.5 T5v% - B% / Black * Painted
5 RLCLEH/NRIL / Screwed panel 1 7 ILEHR / Aluminium A1100P t=1.5 S JLIN—=TF )L AL / Silver * Anodized
7 LR / Aluminium A1100P t=1.5 IS99 - BE / Black - Painted
6 BTE R (M4 x 15 F) 16 #* Zffiyni—k
Screw (M4 — 15 Pan head) Steel Trivalent chromate
7 HU{TE R (M3 x 5 EE{+3L M) 4 % —uLAvE  ZlE/OA—k
Screw (M3 - 5 Slotted raised countersunk) Steel Nickel plated , Black trivalent chromate

/
%

¥ 2

N

mn/Title
TAKACHI] #R&#ahFERIE S RO— LRy HR OLr |
] <J |
— Bk (E:OEEEED) / Color Type (End of product number[1) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
AL% / Code /\*)!/ / Panel 7|/_A / Freme :I_d:_ / Corner 7 E2/Approved #:[X/Checked #X/Created FIFE /Product number RE/Scale
GS < )L7S— / Silver < )LsN— / Silver SA4kJ'L— / Light gray 115
BS < )Ls\— / Silver < )LsS— / Silver 75v7% / Black . " FC8-10-1001
B X S/ Siver 5597 / Black 5597 / Black R AT R : C g
BB 5594 / Black J5v% / Black 5594 / Black fER. B /Date 2020/12/03




5\ #8[X , N$R[X / External View , Internal View

JL—L1{8l / Framel side

L —L3| / Frame3 side

100
> —=
ii
N
h
H

/
i

TL—L28] / Frame2 side

A-A(1:2)
INAAFHINKILEFNT % / Slide panel Max dim. 60

A% / Max dim. 54

ST——=T¢

38.2

&

S5

REIEH/NRILEZI~Ti% / Screwed panel Max dim. 54

JL—LARl / Frame4 side

75.4

o

©

£

el

x

©

= /P
o

s 3
S L1
o .E
_'9'0
N
~ | =
#H O~
=
R
oy R i
=2 T
N

o

<

&

|

A

-

~

B-B(1:2)

E%h~Ti% / Max dim. 69

38.2

i

~ti% / Screwed panel Max dim. 54

#h

RLLEHNARILE

C :7L—LY5KME / Frame cross—section

FvykL—JL / Nut rail

AZAEFYRE

RIFEA T aV B ASAKF Y FZ-3 ZANDEAHEFT,

Groove for slide nut

Slide nut FZ-3 (sold separately as optional parts) can be inserted.

BRARUINTFEHITE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

4/ Title
arvka—JLARYIR
ALUMINIUM CONTROL BOX

o]

752/ Approved

#%[X/Checked

XiI

#1[X]/Created

A1l

RIE /Product number

FC8-10-1001

RE/Scale
1:2

{ERL B /Date 2017/07/12




18.1

18.1

8.7

8.7

4.05
1.2

45

1.65

2.5

19.7
4 137

8.2

9 13.7

227

14.7

1.8

5.7

14.7

74.4

FvkL—JL / Nut rail

4-M4

44

56.74

(™
L

JL—.Ls1 / Framel

54

mmd/Title
BRRUINTFERTE SL— L1 O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame1
752/ Approved 18X /Checked #1[X]/Created RIE /Product number RE/Scale
H75.4 - W100 I
KT L 3/ 7
1R H/Date 2017/07/12




(™
L

JL—L2 / Frame?2

mnda/Title
TAKACHI| #RARHINFERTE SL—1a2 @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame2
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H75.4 - W100 I
T i
xi ® W 4/ 7

{ERL B /Date 2017/07/12




(™
L

L —.L3 / Frame3

mnda/Title
TAKACHI| #RARHINFERTE JL—13 @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame3
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H75.4 - D100 I
T i
xi ® W 5 /7

{ERL B /Date 2017/07/12




(™
L

JL—.L\4 / Frame4

mnda/Title
TAKACHI| #RARHINFERTE SL—In4 @ G
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame4
7K ER/ Approved #%[X|/Checked #X/Created FIZ /Product number RE/Scale
H75.4 - D100 I
T i
xi ® W 6 / 7

{ERL B /Date 2017/07/12




INAAFHINFIL / Slide panel

BZh~Ti% / Max dim. 60

% / Max dim. 60

N
/

S

/N7~ )L K E /Panel Frontside

RLLEH/IRIL / Screwed panel

Hih~Ti% / Max dim. 54

% / Max dim. 54

N
4

ARt

~

J\ZRJLFRE/Panel Frontside

RE—HMA

Surface protective film side

REES —MA

Surface protective film side

1.5

1.5

71.9

71.5
62

71.9

71.5
44

/N2 JLEE/Panel Backside

\ \/

M

\/ /

I\ JLEE /Panel Backside

4-24.2

fnda/Title
TAKACHI| BXEHANTFEHTE ey O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
7 E%/Approved 1#[X]/Checked #X/Created #3 /Product number RE/Scale
W100 - D100 I
iR KiL ®I 27
{YER B /Date 2020/07/14




